
 
 

 

Live Leak - SBI Clerk 2016 Mains Model 
Question Paper 

 
General English Section 

 
Q1-10: In the following passage there are blanks each of which has been 
numbered. The numbers are printed below the passage and against each 
five words are suggested one of which fits the blank appropriately. Find 
out the appropriate word in each case.  
 
Nelson Mandela was a South African anti-apartheid _____1._____, 

politician,____2.____, who served as President of South Africa from 1994 to 1999. 

He was the country's first black chief executive, and the first elected in a fully 

representative ____ 3. ____ election. His government focused on dismantling the 

legacy of ___ 4. ____ through tackling institutionalized racism and fostering 

racial reconciliation. Politically an African nationalist and democratic socialist, he 

served as President of the African National Congress (ANC) party from 1991 to 1997. 

Although initially committed to non-violent protest, in association with the SACP he 

co-founded the militant Umkhonto we Sizwe in 1961, leading a ____ 5. 

____ campaign against the government. In 1962, he was arrested, ____ (6) ____ of 

conspiracy to overthrow the state, and ____ (7) ____ to life imprisonment in 

the Rivonia Trial. An international campaign ____ (8) ____ for his release, which 

was granted in 1990 amid escalating civil ___ (9) ____. Mandela joined 

negotiations with President F. W. de Klerk to abolish apartheid and establish ___ 

(10) ____elections in 1994, in which he led the ANC to victory and became South 

Africa's first black president. 

Q1. Which of these words appropriately fits blank labelled 1.? 

1. Revolutionary 

2. Fighter 

3. Supporter 

4. Socialist 

5. Leader 

Q2. Which of these words appropriately fits blank labelled 2.? 

1. Egotist 

2. Egoist 

3. Philanthropist 

4. Misogamist 

5. Misanthropist 
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Q3. Which of these words appropriately fits blank labelled 3.? 

1. Decided 

2. Democratic 

3. Autocratic 

4. Political 

5. Parliamentary 

Q4. Which of these words appropriately fits blank labelled 4.? 

1. Poverty 

2. Violence 

3. Apartheid 

4. Economy 

5. Caste system 

Q5. Which of these words appropriately fits blank labelled 5.? 

1. Sabotage 

2. Enthusiastic 

3. Violent 

4. Aggressive 

5. Peaceful 

Q6. Which of these words appropriately fits blank labelled (6)? 

1. Charged 

2. Convicted 

3. Punished 

4. Arrested 

5. Captured 

Q7. Which of these words appropriately fits blank labelled (7)? 

1. Sent 

2. Sentenced 

3. Declared 

4. Proclaimed 

5. Announced 

Q8. Which of these words appropriately fits blank labelled (8)? 

1. Pleaded 

2. Lobbied 

3. Closed 



 
 

 

4. Fought 

5. Released 

Q9. Which of these words appropriately fits blank labelled (9)? 

1. War 

2. Fight 

3. Strife 

4. Violence 

5. Argument 

Q10. Which of these words appropriately fits blank labelled (10)? 

1. Parliamentary 

2. Racial 

3. Democratic 

4. Multiracial 

5. Biased 

 

Q11-20. Read the passage given below and then answer the questions 

given below the passage. Some words may be highlighted for your 

attention. Pay careful attention. 

He was driving home one evening, on a two-lane country road. Work, in this small 

Midwestern community, was almost as slow as his beat-up Pontiac. But he never quit 

looking. Ever since the Levi’s factory closed, he’d been unemployed, and with winter 

raging on, the chill had finally hit home. 

It was a lonely road. Not very many people had a reason to be on it, unless they were 

leaving. Most of his friends had already left. They had families to feed and dreams to 

fulfill. But he stayed on. After all, this was where he buried his mother and father. He 

was born here and knew the country. He could go down this road blind, and tell you 

what was on either side, and with his headlights not working, that came in handy. It 

was starting to get dark and light snow flurries were coming down. He’d better get a 

move on. 

You know, he almost didn’t see the old lady, stranded on the side of the road. But 

even in the dim light of day, he could see she needed help. So he pulled up in front of 

her Mercedes and got out. His Pontiac was still sputtering when he approached her. 

Even with the smile on his face, she was worried. No one had stopped to help for the 

last hour or so. Was he going to hurt her? He didn’t look safe, he looked poor and 

hungry. He could see that she was frightened, standing out there in the cold. He knew 

how she felt. It was that chill that only fear can put in you. 



 

 
 

He said, “I’m here to help you, ma’am. Why don’t you wait in the car where it’s warm. 

By the way, my name is Joe.” Well, all she had was a flat tire, but for an old lady, that 

was bad enough. Joe crawled under the car looking for a place to put the jack, 

skinning his knuckles a time or two. Soon he was able to change the tire. But he had 

to get dirty and his hands hurt. As he was tightening up the lug nuts, she rolled down 

her window and began to talk to him. She told him that she was from St. Louis and was 

only just passing through. She couldn’t thank him enough for coming to her aid. Joe 

just smiled as he closed her trunk. 

She asked him how much she owed him. Any amount would have been all right with 

her. She had already imagined all the awful things that could have happened had he 

not stopped. Joe never thought twice about the money. This was not a job to him. This 

was helping someone in need, and God knows there were plenty who had given him a 

hand in the past. He had lived his whole life that way, and it never occurred to him to 

act any other way. He told her that if she really wanted to pay him back, the next time 

she saw someone who needed help, she could give that person the assistance that they 

needed, and Joe added “…and think of me”. 

He waited until she started her car and drove off. It had been a cold and depressing 

day, but he felt good as he headed for home, disappearing into the twilight. 

A few miles down the road the lady saw a small cafe. She went in to grab a bite to eat, 

and take the chill off before she made the last leg of her trip home. It was a dingy 

looking restaurant. Outside were two old gas pumps. The whole scene was unfamiliar 

to her. 

The cash register was like the telephone of an out of work actor, it didn’t ring much. 

Her waitress came over and brought a clean towel to wipe her wet hair. She had a sweet 

smile, one that even being on her feet for the whole day couldn’t erase. The lady noticed 

that the waitress was nearly eight months pregnant, but she never let the strain and 

aches change her attitude. The old lady wondered how someone who had so little could 

be so giving to a stranger. Then she remembered Joe. After the lady finished her meal, 

and the waitress went to get her change from a hundred dollar bill, the lady slipped 

right out the door. She was gone by the time the waitress came back. 

She wondered where the lady could be, then she noticed something written on a 

napkin. There were tears in her eyes when she read what the lady wrote. It said, “You 

don’t owe me a thing, I’ve been there too. Someone once helped me out, the way I’m 

helping you. If you really want to pay me back, here’s what you do. Don’t let the chain 

of love end with you.” 

Well, there were tables to clear, sugar bowls to fill, and people to serve, but the waitress 

made it through another day. That night when she got home from work and climbed 

into bed, she was thinking about the money and what the lady had written. 

How could she have known how much she and her husband needed it? She turned 

towards Joe and hugged him and slept.  

 



 
 

 

Q11. Which of the following is most similar in meaning to the word ‘flurries’ as given 
in the passage? 

1. Crowd 

2. Swirling mass 

3. Drops 

4. Cloud 

5. Ground 

Q12. Which of the following is most similar in meaning to the word ‘stranded’ as 
given in the passage? 

1. Arranged  

2. Caught  

3. Alone  

4. Drove  

5. None of the above 

Q13. Which of the following is most similar in meaning to the word ‘sputtering’ as 
given in the passage? 

1. Spit  

2. Spray  

3. Eject   

4. Emit  

5. None of the above 

Q14. Which of the following is most opposite in meaning to the word ‘skinning’ as 
given in the passage? 

1. Flaying  

2. Peeling  

3. Healing  

4. Removing  

5. None of the above 

Q15. Which of the following is most opposite in meaning to the word ‘dingy’ as given 
in the passage? 

1. Gloomy  

2. Dark  

3. Shabby  

4. Bright  

5. None of the above 

Q16. How was the driver’s Pontiac? 
 

1. Fast 
2. Slow 



 

 
 

3. Dirty 
4. Grey 
5. None of the above 

 
Q17. What line in the passage tells us that the lady was rich? 
 

1. She gave the waitress 100 dollars 
2. She asked Joe how much he wanted and that any amount would be okay with 

her 
3. She paid him handsomely 
4. She wore good clothes 
5. She was afraid that he was poor 

 
Q18. Why was the road so lonely? 
 

1. It was a cold night 
2. It was a holiday 
3. People were with their families 
4. The place was not good for employment hence, many people had left 
5. None of the above 

 
Q19. What is the moral of the story? 
 

1. Honesty is the best policy 
2. Every cloud has a silver lining 
3. Better late than never 
4. Do good and good will come back to you 
5. None of the above 

 
Q20. How is Joe as a person? 
 

1. Kind 
2. Vain 
3. Principled 
4. Sad 
5. None of the above 

 
 
Q21-Q25. Rearrange the following five sentences/ group of sentences (A), 

(B), (C), (D) and (E) in the proper sequence to form a meaningful 

paragraph; then answer the questions given below them. 

 

A. Later, in the wake of the high incidence of poverty levels, as reported by the NSSO 

in the mid-1970s, three important food intervention programmes were introduced: 

Public Distribution System (PDS) for food grains (in existence earlier but 

strengthened thereafter); Integrated Child Development Services (ICDS) (introduced 



 
 

 

in 1975 on an experimental basis) and Food-for-Work(FFW) (introduced in 1977–

78).  

 

B. The introduction of Rationing in India dates back to the 1940s against the 

backdrop of the Bengal famine.  

 

C. While some of the programmes such as PDS, mid-day meals etc. are exclusively 

food security programmes, most of the Poverty Alleviation Programs also enhance 

food security.  

 

D. Over the years, several new programmes have been launched and some have been 

restructured with the growing experience of administering the programmes.  

 

E. The rationing system was revived in the wake of an acute food shortage during the 

1960s, prior to the Green Revolution.  

 

F. At present, there are several PAPs mostly in rural areas, which have an explicit 

food component also.  

 
Q21. Which of the following would be the FIRST sentence after rearrangement? 

1. A 

2. B 

3. C 

4. D 

5. E 

 

Q22. Which of the following would be the SECOND sentence after rearrangement? 

1. A 

2. B 

3. C 

4. D 

5. E 

 
Q23. Which of the following would be the THIRD sentence after rearrangement? 

1. A 

2. B 

3. C 

4. D 

5. E 



 

 
 

Q24. Which of the following would be the FIFTH sentence after rearrangement? 

1. A 

2. B 

3. C 

4. D 

5. E 

 

Q25. Which of the following would be the LAST sentence after rearrangement? 

1. A 

2. B 

3. F 

4. D 

5. E 

 

Q26-30. Read the sentences below to find out whether there is any error 

in it. The error, if any, will be in one part of the sentence. The number of 

that part is the answer. If there is no error, the answer is 5.. Ignore 

errors of punctuation, if any. 

Q26. I love 1./ this room 2./ because he is 3./my peaceful haven. 4./ No error 5. 

Q27. The news 1./ are at 2./ 6:30 P.M. in the evening 3./and is again repeated at 6 

A.M. 4./ No error 5. 

Q28. Mita always 1./ worked hard 2./ than her brother 3./but Mohan always won. 

4./ No error 5. 

Q29. A sun 1./ rose high up 2./ in the eastern sky 3./in all its glory. 4./ No error 5. 

Q30. I noticed 1./ that the 2./ attic window 3./is missing all its glasses. 4./ No error 

5. 

Q31-35. Pick out the most effective words from the given words to fill in 

the blanks to make the sentences meaningfully complete.  

 

Q31. No country is truly modernized until all its productive and social capacities 

have ____ the highest existing world _____. 

1. Attained, standard 

2. Evoked, response 

3. Matched, zenith 



 
 

 

4. Challenged, competition  

5. Qualified, parameter 

Q32. Man’s joy knows no bounds when he ______ something his _____ hopes. 

1. Seeks, against 

2. Gain, encompassing  

3. Earn, ahead 

4. Obtains, beyond 

5. Embraces, dreaming 

Q33. The ______ of the high-level discussions with World Intellectual Property 

Organisation, likely on January 15, include possible _______ for Intellectual 

property rights awareness creation, enforcement and capacity building. 

1. topic, methods 

2. reason, causes  

3. agenda, measures 

4. highlight, techniques 

5. need, threats 

Q34. The Accountant was found guilty of ______ the society's funds, and he was 

immediately _____.  

1. misplacing, punished 

2. misappropriating, dismissed  

3. robbing, arrested 

4. spending, transferred 

5. stealing, beaten 

Q35. It is the need of the hour to _____ alternate sources of energy as fossil fuels 

will soon be ______. 

1. buy, consumed 

2. invent, increased 

3. find, gone 

4. get, vanished 

5. explore, depleted 

Q36-40. In each of the following sentences, four words or phrases have 

been printed in bold. One bold part in the sentence is not acceptable in 

Standard English. Select the number alongside that part as the correct 

option. If none of the bold parts are erroneous, mark 5. i.e. ‘No error’ as 

the answer.  



 

 
 

Q36. There was a very sad incident 1. in China where people mixed chemicals 2. 

in milk to sell sub-standard 3. milk without anyone detecting the adultery 4.. No 

Error 5. 

Q37. A wise spokesperson 1. chooses his words in a manner 2. such that his 

message 3. is not misconstrued or amiable 4. to misrepresentation. No Error 5. 

Q38. Arnold’s gambling 1. began after he moved 2. to this city lonely 3., 

respondent 4. and in debt when his business failed. No Error 5. 

Q39. We all stood and watched in wonder 1. as the vessel was polished and the 

extricate 2. patterns started appearing 3. on its surfaced which was hid behind 

decades 4. of dirt and grime. No Error 5. 

Q40. Taxation on certain goods 1. and services are often based on explicit 2. 

control over the behaviour 3. of the citizens of a country, vice 4. taxes being an 

example. No Error 5. 

 

Quantitative Aptitude Section 

Q41. What should come in place of the question mark (?) in the following question? 

12.5 × 7.5 – 2.7 × 8.5 =? 

1. 70.8 

2. 75.4 

3. 69.2 

4. 77.8 

5. None of these 

Q42. What should come in place of the question mark (?) in the following question? 

160% of 570 + 270% of 690 =? 

1. 2775 

2. 2757 

3. 2755 

4. 2575 

5. None of these 

Q43. What should come in place of the question mark (?) in the following question? 

45% of 224 × ?% of 120 = 8104.32 



 
 

 

1. 67 

2. 62 

3. 59 

4. 71 

5. None of these 

Q44. What should come in place of the question mark (?) in the following question? 

6573 ÷ (70% of 30) × (0.2)2 =? 

1. 7825 

2. 62.6 

3. 1565 

4. 12.52 

5. None of these 

Q45. What should come in place of the question mark (?) in the following question? 

 
37×7−29×5

72+√169+(9)2 =? 

1. 40/143 

2. 36/143 

3. 14/143 

4. 22/143 

5. None of these 

Q46. What should come in place of the question mark (?) in the following question? 

12663 ÷ 27 × 784 ÷ 14 =? 

1. 26664 

2. 26364 

3. 26264 

4. 26426 

5. None of these 

Q47. What should come in place of the question mark (?) in the following question? 

√(7921) × 51 + 50% of 748 = (?)3 

1. 16 

2. 19 

3. 15 

4. 21 

5. None of these 



 

 
 

Q48. What will come in place of the question mark (?) in the following equation? 

13.15 × 7.4 + 76.12 = ? 

1. 164.53 

2. 94.58 

3. 96.67 

4. 173.43 

5. None of these  

Q49. What should come in place of the question mark (?) in the following question? 

6412 ÷ 415 = 64? 

1. 9 

2. 3 

3. 12 

4. 7 

5. None of these 

Q50. What approximate value will come in place of question mark in the following 
question? 

21 + 3.7 × 2.9 =? 

1. 11 

2. 32 

3. 40 

4. 60 

5. 100 

Q51. What approximate value should come in place of the question mark (?) in the 

following question? (NOTE: You are not expected to calculate the exact value) 

 73 × 19.254 + (17.569 – 9.670) =? 

1. 1130 

2. 1410 

3. 2240 

4. 3048 

5. 2298 

Q52. If the last two digits of a four digit number are interchanged, the new number 

obtained is greater than the original number by 54. What is the difference between 

the last two digits of the number? 



 
 

 

1. 9 

2. 12 

3. 6 

4. 22 

5. None of these 

Q53. If 7 needlewomen can finish a piece of work in 10
5

8
 days of 9

3

5
 hours each, how 

long will it take 3 needlewomen to do 2 such pieces of work, if they work 10 hours a 

day ? 

1. 47
3

5
 𝑑𝑎𝑦𝑠 

2. 45
1

2
 𝑑𝑎𝑦𝑠 

3. 47 days 

4. 52 days 

5. None of these 

Q54. Arrange the following in the ascending order -2/3, ¾ and -3/4 

1. -3/4 < -2/3 < ¾ 

2. -3/4 < ¾ < -2/3 

3. ¾ < -3/4 < -2/3 

4. Not determinable  

5. None of these  

Q55. The average of 24 numbers is 18. If each item of the series is multiplied by 3, 

the new average is  

1. 54 

2. 62 

3. 57 

4. Cannot be determined  

5. None of these 

Q56. The simple interest in 14 months on a certain sum at the rate of 6 per cent per 

annum is Rs. 250 more than the interest on the same sum at the rate of 8 per cent in 

8 months. How much amount was borrowed? 

1. Rs. 15,000 

2. Rs. 25,000 



 

 
 

3. Rs. 7,500 

4. Rs. 14,500 

5. None of these 

Q57. Vinod Kumar invested Rs. 1600 for 3 years and Rs. 1100 for 4 years at the same 

rate of simple interest. If the total interest from these investments is Rs. 506, then 

rate of interest was  

1. 2
3

4
% 

2. 5
1

3
% 

3. 5
1

2
% 

4. 6% 

5. 5% 

Q58. The rectangular plot is half as long as it is broad. The area of the plot is 2/3 

hectares. The length of the plot is 

1. 110 m 

2. 67.66 m 

3. 33
1

3
m 

4. 
100

√3
m 

5. None of these 

Q59. If the length of a rectangle is increased by 20% and the breadth is reduced by 

20%, what will be the effect on its area? 

1. 4% increase 

2. 6% increase 

3. 5% decrease 

4. 4% decrease 

5. None of these 

Q60. The average age of a group of 20 boys is increased by one year when 5 of them, 

whose average age was 20 years, are replaced by 5 new boys. The average age of new 

comers is  

1. 24 years 

2. 25 years 

3. 30 years 



 
 

 

4. 35 years  

5. None of these 

Q61. Alcohol cost Rs. 3.50 per litre and kerosene oil cost Rs. 2.50 per litre. In what 

proportion these should be mixed so that the resulting mixture may be Rs. 2.75 per 

litre? 

1. 2 : 5  

2. 1 : 3  

3. 4 : 7  

4. 2 : 3  

5. None of these 

Q62. A student has to secure 40% of the total marks to pass. He gets 190 marks and 

fails by 190 marks. Find the total marks. 

1. 900 

2. 800 

3. 700 

4. 950 

5. None of these 

Q63. Two electronic musical instruments were purchased for Rs. 8000. The first 
was sold at a profit of 40% and the second loss of 40%. If the sale price was the same 
in both the cases. What was the cost price of two electronic musical instruments? 

1. Rs.2000, Rs.5000 

2. Rs.2200, Rs.5500 

3. Rs.2400, Rs.5000 

4. Rs.2400, Rs.5600 

5. None of these 

Q64. A man purchased sugar worth Rs.400. He sold 3/4 th at a loss of 10% and the 

remainder at a gain of 10%. On the whole, he gets 

1. 5% loss 

2. 5% gain 

3. 5
1

19
% gain 

4. 5
1

19
% loss 

5. 6% gain 



 

 
 

Q65. Three letters are written to different persons, and addresses on three envelopes 

are also written. Without looking at the addresses, the probability that the letters go 

into right envelopes is  

1. 1/27 

2. 1/6 

3. 1/9 

4. 1/8 

5. None of these  

Q66. If a train 60 m long passes a platform 120 m long in 12 second, then speed of 

the train (in km/hr) is 

1. 10 km/hr 

2. 18 km/hr 

3. 36 km/hr 

4. 54 km/hr 

5. None of these  

Q67. The ratio of number of ladies to gents at a party was 1 : 2, but when 2 ladies and 
2 gents left, the ratio became 1 : 3. How many people were originally present at the 
party? 

1. 6  

2. 9 

3. 12   

4. 10 

5. None of these 

Q68. A cistern can be filled by one pipe in 6 hrs, and by another in 5 hrs. There is a 

waste pipe also and if this is open when the 2nd pipe is working the cistern takes 7 ½ 

hrs. to fill. How long will the cistern take to fill if all the three pipes are open? 

1. 1
1

2
 hrs. 

2. 3
1

3
 hrs. 

3. 6
1

2
 hrs. 

4. 8
1

3
 hrs. 

5. None of these 

Q69. Twenty-four men can complete a work in sixteen days. Thirty – two women 
can complete the same work in twenty four days. Sixteen men and sixteen women 
started working and worked for twelve days. How many more men are to be added to 
complete the remaining work in 2 days? 



 
 

 

1. 48 
2. 24 
3. 36 
4. 16 
5. None of the above 

Q70. In the question, one or more equations(s) is (are) provided. On the basis of 

these you have to give answer 

(i) p2 – 2p + 1 = 0 

(ii) 4q2 – 5q + 1 = 0  

1. p = q 

2. p > q 

3. q > p  

4. p ≥ q 

5. q ≥ p  

Q71. In the question, one or more equations(s) is (are) provided. On the basis of 

these you have to give answer 

(i) q2 – 11q + 30 = 0  

(ii) 2p2 – 7p + 6 = 0 

1. p = q 

2. p > q 

3. q > p 

4. p ≥ q 

5. q ≥ p  

Q72. What should come in place of question mark (?) in the following number 

series? 

10 17 48 165 688 3275 ? 

1. 27584 

2. 25670 

3. 21369 

4. 20892 

5. None of these 

Q73. What should come in place of question mark (?) in the following number 

series? 

1 3 24 360 8640 302400 ? 



 

 
 

1. 14525100 

2. 154152000 

3. 14515200 

4. 15425100 

5. None of these 

Q74. What should come in place of question mark (?) in the following number 

series? 

12 14 32 102 416 2090 ? 

1. 15522 

2. 12552 

3. 13525 

4. 17552 

5. None of these 

Q75. What should come in place of question mark (?) in the following number 

series? 

10 15 15 12.5 9.375 6.5625 ? 

1. 4.375 

2. 3.2375 

3. 13525 

4. 17552 

5. None of these 

 

Q76-80. Directions: Study the following graph carefully and answer the questions 

given below. 

Profit Earned by a Company Over the Years 
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Q76. The income of the company in the year 2000 was Rs. 50 crore and the income 

of the company in the year 2003 was Rs. 95 crore. What is the respetive ratio of the 

expenditure of the company in the year2000 to the expenditure of the company is 

the year 2003? 

1. 5 : 9 

2. 1 : 3 

3. 4 : 7 

4. 4 : 9 

5. None of these 

 

Q77. What is the approximate per cent profit of the year 2004, if the income of the 

company was Rs. 136 crore? 

1. 85 

2. 75 

3. 79 

4. 82 

5. 73 

 

Q78. The expenditure of the company in the year 2001, was Rs. 45 crore, what was 

the income of the comapany in that year? 

1. Rs. 400000000 

2. Rs. 600000000 

3. Rs. 55000000 

4. Rs. 60000000 

5. None of these  

 

Q79. In which year is the per cent increase / decrease in profit the highest from that 

of the previous year? 

1. 2002 

2. 2001 

3. 2003 

4. 2004 

5. None of these  

 

Q80. What is the average profit earned by the company over the years? 

1. Rs. 42500000 

2. Rs. 420000000 

3. Rs. 428000000 

4. Rs. 430000000 

5. None of these 

 



 

 
 

Q81-85. Directions: Study the table carefully to answer the questions that follow: 

Course – wise number of students in different cities 

Course →  

City ↓  

MBA LLB MCA ENG IR 

Chandigarh 1244 1084 1440 1289 1632 

Bengaluru 1023 1083 1874 1903 1240 

Assam 1987 1347 1532 1421 1086 

Lucknow 1176 1473 1129 1765 1266 

New Delhi 1238 1098 1128 1865 1777 

Hyderabad 1450 1234 1556 1653 1709 

Pune 1539 1785 1865 1504 1722 

 

Q81. What is the approximate average number of students enrolled in LLB course 

from all the cities together? 

1. 1263 

2. 1165 

3. 1443 

4. 1301 

5. 1349 

 

Q82. In Lucknow, the number of ENG students is what per cent of that of IR 

students? 

1. 169.77 

2. 112.54 

3. 134.76 

4. 123.99 

5. 139.42 

 

Q83. In Chandigarh, the number of MBA students is what per cent of that of ENG 

students? 

1. 66.55 

2. 91.76 

3. 89.75 

4. 98.66 

5. 96.51 



 
 

 

Q84. What is the difference between total number of ENG and MCA students from 

all the cities together? 

1. 840 

2. 876 

3. 1180 

4. 956 

5. None of these 

 

Q85. Which city has the highest number of students? 

1. Chandigarh 

2. Bengaluru 

3. Lucknow 

4. Pune 

5. None of these 

 

Q86-90. Directions: Study the following pie-chart carefully to answer these 

questions: 

Percentage-wise distribution of players who play five different sports 

Total players are 4200, out of which female players are equal to 2000 

Total players = 4200

 

Lawn Tennis
25%

Hockey 
10%

Cricket
35%

Football
17%

Rugby
13%



 

 
 

Female players = 2000

 

Q86. What is the average number of players (both male and female) who play 

Football and Rugby together? 

1. 620 

2. 357 

3. 230 

4. 630 

5. None of these 

Q87. What is the difference between the number of female players who play Lawn 

Tennis and the number of male players who play Rugby? 

1. 94 

2. 84 

3. 320 

4. 240 

5. None of these 

Q88. What is the ratio of the number of female players who play Cricket to the 

number of male players who play Hockey? 

1. 20 : 7 

2. 4 : 21 

3. 20 : 3 

4. 3 : 20 

5. None of these 

Lawn Tennis
22%

Hockey 
15%

Cricket
40%

Football
13%

Rugby
10%



 
 

 

Q89. What is the total number of the male players who play Football, Cricket and 

Lawn tennis together? 

1. 1,724 

2. 1,734 

3. 1,824 

4. 1,964 

5. None of these 

Q90. The number of male players who play Rugby is approximately what 

percentage of the total number of players who play Lawn Tennis? 

1. 33 

2. 39 

3. 26 

4. 21 

5. 43 

 

Reasoning Ability & Computer Awareness Section 
 

Q91-93. Directions: These questions are based on the following six numbers. 

827   389   485   654   578   217 

 

Q91. If the first two digits of each number are interchanged, which among these 

numbers will be the 2nd lowest number? 

1. 485 

2. 645 

3. 217 

4. 827 

5. None of these 

 

Q92. If two digit numbers are formed by taking the 2nd and 3rd digits respectively 

of each of these numbers and then the two digits of each of these two digit numbers 

are interchanged, then which number from these given numbers will be the second 

highest number in the revised form? 

1. 389 

2. 485 

3. 578 

4. 827 

5. None of these 



 

 
 

 

Q93. If these numbers are written with their digits in the reverse order, which 

number among them will stand third from the top? 

1. 485 

2. 578 

3. 217 

4. 389 

5. None of these 

 

Q94. Four of the following five are alike in a certain way and so form a group. Which 

is the one that does not belong to that group? 

1. 215 

2. 143 

3. 247 

4. 91 

5. 65 

 

Q95-98. Directions: Study the following information carefully and answer the 

given questions: 

In a certain code language: 

“Only in serial order” is written as “ve pu a to”. 

“Order in the state” is written as “li ve su pu”. 

“The logical idea only” is written as “su a ri jo”. 

“In idea or theory” is written as “zt jo bk pu”. 

 

Q95. Which of the following is the code of ‘theory’? 

1. zt 

2. bk 

3. jo 

4. pu 

5. Either ‘zt’ or ‘bk’ 

 

Q96. The code, ‘li ri to ve’ may represent: 

1. Serial order theory only 

2. Only idea state order 

3. State logical serial order 

4. Serial theory state the 

5. Only the idea logical 

 

Q97. Which of the following may represent “logical idea is only order”? 

1. jo a ri ge ve 



 
 

 

2. ve na ri jo pu 

3. ri ve na zi bk 

4. bk to pu jo ve 

5. na ve su li pu 

 

Q98. Which of the following is the code of “logical”? 

1. su 

2. jo 

3. na 

4. ri 

5. None of these 

 

Q99-101. Directions: Study the following information to answer these questions. 

I. ‘P × Q’ means ‘P is brother of Q’. 

II. ‘P ÷ Q’ means ‘P is sister of Q’. 

III. ‘P + Q’ means ‘P is mother of Q’. 

IV. ‘P – Q’ means ‘P is father of Q’. 

 

Q99. Which of the following mean ‘R is granddaughter of B’? 

1. R ÷ M + K – B 

2. K + M ÷ R – B 

3. B – T + R ÷ D 

4. B – T + R 

5. None of these 

 

Q100. Which of the following means ‘M is nephew of R’? 

1. M × T + J ÷ R 

2. R × K ÷ M × T 

3. R × K – M 

4. R × K + M × T 

5. None of these 

 

Q101. Which of the following means ‘D is maternal uncle of T’? 

1. D × J + T 

2. D × J – T 

3. D ÷ J + T 

4. D ÷ J – T 

5. None of these 

 

Q102-106. Directions: In the following questions the symbols ⋆, %, @, $ and © 

are used with the following meaning as illustrated below. 



 

 
 

‘P % Q’ means ‘P is smaller than Q’. 

‘P © Q’ means ‘P is either smaller than or equal to Q’ 

‘P ⋆ Q’ means ‘P is neither greater than nor smaller than Q’. 

‘P $ Q’ means ‘P is either greater than or equal to Q’. 

‘P @ Q’ means ‘P is neither smaller than or equal to Q’. 

Now, in each of the following equations assuming the given statements to be true, 

find which of the two conclusions I and II given below them is/are definitely true? 

Give answers: 

1. Only Conclusion I is true. 

2. Only Conclusion II is true. 

3. Either Conclusion I or II is true. 

4. Neither Conclusion I nor II is true. 

5. Both Conclusion I and II are true. 

 

Q102. Statements: 

J $ N, N % D, D @ F 

Conclusions: 

I. F % N 

II. J @ D 

 

Q103. Statements: 

M @ D, D © W, W ⋆ B 

Conclusions: 

I. B $ D 

II. M @ B 

Q104. Statements: 

H ⋆ B, B $ A, A % R 

Conclusions: 

I. R @ H 

II. A © H 

 

Q105. Statements: 

B $ D, D @ J, J % M 

Conclusions: 

I. J % B 

II. M @ D 

 

Q106. Statements: 

R @ M, M ⋆ K, K © T 

Conclusions: 

I. T @ M 



 
 

 

II. T ⋆ M 

 

Q107-110. Directions: In question below are three statement followed by two 

conclusions numbered I and II. You have to take the three given statements to be 

true even if they seem to be at variance from commonly known facts and then decide 

which of the given conclusions logically follows from the given statements 

disregarding commonly known facts. 

 

Q107. Statements: 

No stone is a metal. 

Some metals are papers. 

All papers are glass. 

Conclusions: 

All stones being glass is a possibility. 

No stone is a paper. 

1. Only conclusion I follows. 

2. Only conclusion II follows. 

3. Either conclusion I or conclusion II follows. 

4. Neither conclusion I nor conclusion II follows. 

5. Both conclusions I and II follow. 

 

Q108. Statements: 

Some pencils are mobiles. 

All mobiles are grass. 

All grass is green. 

Conclusions: 

All grass being pencils is a possibility. 

No green is mobile. 

1. Only conclusion I follows. 

2. Only conclusion II follows. 

3. Either conclusion I or conclusion II follows. 

4. Neither conclusion I nor conclusion II follows. 

5. Both conclusion I and conclusion II follow. 

 

Q109. Statements: 

All handles are berries 

Some berries are curved 

All curved are trams 

Some trams are cylinder 

Conclusions: 

I. Some trams are berries 



 

 
 

II. Some trams are handles 

III. Some cylinder are curved 

1. None follows 

2. Only I follow 

3. Only II follows 

4. Only III follows 

5. Only II and III follow 

 

Q110. Statements: 

Some villas are towns 

Some towns are floors 

All floors are round 

Some rounds are tents 

Conclusions: 

I. Some tents are towns 

II. Some rounds are towns 

III. Some floors are villas 

1. None follows 

2. Only I follow 

3. Only II follows 

4. Only III follows 

5. Only II and III follow 

 

Q111-115. Directions: Study the following information carefully and answer the 

given questions. 

Eight friends Piyush, Qutub, Rahul, Shruti, Tanmay, Vaibhav, Wardah and Yash are 

sitting around a square table in such a way that four of them sit at four corners of the 

square while four sit in the middle of each of the four sides. The one’s who sit at the 

four corners face the center while those who sit in the middle of the sides face 

outside. 

Piyush who faces the center sits third to the right of Vaibhav. Tanmay who faces the 

center, is not an immediate neighbor of Vaibhav. Only one person sits between 

Vaibhav and Wardah. Shruti sits second to right of Qutub. Qutub faces the center. 

Rahul is not an immediate neighbor of Piyush. 

 

Q111. What is the position of Tanmay with respect to Vaibhav? 

1. Fourth to the left 

2. Second to the left 

3. Third to the left 

4. Third to the right 

5. Second to the right 



 
 

 

Q112. Who sits second to the left of Qutub? 

1. Vaibhav 

2. Piyush 

3. Tanmay 

4. Yash 

5. Cannot be determined 

 

Q113. Four of the following five are alike in a certain way and so form a group. 

Which is the one that does not belong to that group? 

1. Rahul 

2. Wardah 

3. Vaibhav 

4. Shruti 

5. Yash 

 

Q114. Which of the following will come in place of the question mark based upon the 

given seating arrangement? 

Wardah: Piyush, Tanmay: Rahul, Qutub: Wardah, Rahul: Shruti, ? 

1. Yash: Tanmay 

2. Vaibhav: Yash 

3. Vaibhav: Qutub 

4. Piyush: Yash 

5. Qutub: Vaibhav 

 

Q115. Which of the following is true regarding Rahul? 

1. Rahul is an immediate neighbor of Vaibhav 

2. Rahul faces the center 

3. Rahul sits exactly between Tanmay and Shruti 

4. Qutub sits third to left of Rahul 

5. None is true 

 

Q116-120. Directions: Study the following information carefully to answer the 

given questions: 

Eight people, viz. M, X, S, P, J, F, B and Z are sitting in a straight line facing north. 

Each of them passed an entrance exam and must join the college in different months 

viz. January, February, March, April, May, June, July and August but not necessarily 

in the same order. 

B sits third to the right of the person who joins in the May. The person who joins in 

August sits second to the right of B. M and J are immediate neighbours of each other. 

Neither M nor J has joining dates in either May or August. Neither M nor J is an 

immediate neighbour of B. 



 

 
 

The person who’s joining date is in January sits third to the left of Z. Neither M nor J 

has joining dates in January. Z’s joining date is not in August. 

Only two people sit between J and the person whose joining date is in July. P sits 

immediate right of the person whose joining date is in February. 

Only one person sit between J and X. S joins before July. J joins after April. B joins 

after M. 

 

Q116. Who among the following has joining date in June? 

1. J 

2. B 

3. S 

4. Z 

5. F 

 

Q117. In which of the following months does Z join the college? 

1. March 

2. February 

3. July 

4. April 

5. June 

 

Q118. Who among the following sits exactly between J and X? 

1. M 

2. Z 

3. The person whose joining month is May 

4. The person whose joining is in August 

5. Cannot be determined 

 

Q119. Z is related to July in a certain way based on the above arrangement. ‘X’ is 

related to ‘June’ following the same pattern. “____” is related to ‘May’ following the 

same pattern. 

1. F 

2. B 

3. M 

4. P 

5. S 

 

Q120. Which of the following is true regarding P? 

1. Only two people sit to the left of P 

2. J and X are immediate neighbours of P 

3. P’s joining month is May 



 
 

 

4. P is sitting second to the right of the person whose joining month is July. 

5. None of these 

 

Q121-125. Directions: Read the following information carefully and answer the 

questions given below. 

There are seven interview panels I to VII for selecting Managers for seven different 

companies, viz A, B, C, D, E, F and G. Asha, Rasha, Preety, Rashi, Nayan, Nimmi and 

Manya are seven candidates for the post of Managers but not necessarily in the same 

order. 

Panel IV takes interview of Nimmi for company A. Panel III takes interview of Rashi 

but not for the company C or D. Rasha gives interview for company B but not to the 

panels I or II. Panel VI takes interview of Asha for company E. Panel VII takes 

interview for company F. Panel I take interview of Preety but not for company C. 

Panel II does not take interview of Nayan. 

 

Q121. Panel II takes interview for which of the following companies? 

1. D 

2. C 

3. F 

4. B 

5. None of these 

 

Q122. Panel V takes interview of which of the following candidates? 

1. Rasha 

2. Nayan 

3. Preety 

4. Can't be determined 

5. None of these 

 

Q123. Preety gives interview for which of the following companies? 

1. F 

2. G 

3. D 

4. A 

5. None of these 

 

Q124. Who among the following gives interview for Company C? 

1. Rasha 

2. Rashi 

3. Preety 

4. Manya 



 

 
 

5. None of these 

 

Q125. Which of the following combinations is true? 

1. Nayan — F — VII 

2. Rashi — C— III 

3. Rasha — B — II 

4. Preety — C — I 

5. None of these 

 

Q126. Which language was used for first computer program? 

1. Assembly language 

2. Machine language 

3. Source code 

4. Object code 

5.  Spaghetti code 

 

Q127. The programs used for controlling the various computer parts? 

1.  Utility software 

2.  Operating system 

3.  Word processing software 

4.  Database program 

5.  None of these 

 

Q128. What is the name of the program which is put in a semiconductor chip at the 

time of its making in the industry itself? 

1.  humanware 

2.  firmware 

3.  liveware 

4.  hardware 

5.  software 

 

Q129. A software transforms data into _______. 

1.  Web sites 

2.  Information 

3.  Programs 

4.  Object 

5.  None of these 

 

Q130. Which of the terms is not associated with spread sheet? 

1.  Worksheet 

2.  Cell 



 
 

 

3.  Formula 

4.  Virus detection 

5.  None of these 

 

Q131. The process of correcting errors in a program is known as _________. 

1.  Interpreting 

2.  Translating 

3.  Debugging 

4.  Compiling 

5.  None of these 

 

Q132. Choose the option from the following which is not a programming language. 

1.  C 

2.  C++ 

3.  Java 

4.  COBOL 

5.  Microsoft 

 

Q133. When a user gives a name to a document, it becomes a ____. 

1.  Name given 

2.  Document given 

3.  File name 

4.  Document identify 

5.  None of these 

 

Q134. Which type of software is a operating system? 

1.  Communication 

2.  Application 

3.  System 

4.  Word-processing 

5.  None of these 

 

Q135. Which electronic substance is used for manufacturing chips? 

1.  Bus 

2.  Control unit 

3.  Semiconductors 

4.  A and b only 

5.  None of these 

 

Q136. To be able to boot, the computer should have  

1.  CD Drive 



 

 
 

2.  Loader 

3.  Operating system 

4.  Assembler 

5.  None of these 

 

Q137. The word in the web page that, when clicked, opens another document is 

known as 

1. Link 

2. Embedded link 

3. Hyperlink 

4. Keyword 

5. None of these 

 

Q138. The primary key must be a (n) ______ field. 

1.  Numeric 

2.  Object 

3.  Unique 

4.  Related 

5.  None of these 

 

Q139. One advantage of dial up internet access is? 

1.  It utilizes broadband technology 

2.  It utilizes existing telephone service 

3.  It uses a router for security 

4.  Modem speed is very fast 

5.  None of these 

 

Q140. What is a name used by Intel Corporation to the high speed MOS technology? 

1. SDLC 

2. LAP 

3. HDLC 

4. HMOS 

5. None of the above 

 

General Awareness Section 
 

Q141. What was India’s per capita income for 2015-16? 

1.  65000 Rupees 

2.  72000 Rupees 

3.  85000 Rupees 



 
 

 

4.  110000 Rupees 

5.  77000 Rupees 

 

Q142. What is the current age for retirement for central health doctors? 

1.  60 years 

2.  62 years 

3.  63 years 

4.  65 years 

5.  70 years 

 

Q143. Who was the first Chief of Naval Staff of the Indian Navy? 

1.  Madhvendra Singh 

2.  Ronald Lynsdale Pereira 

3.  Charles Thomas Mark Pizey 

4.  Sir Stephen Hope Carlill 

5.  Sureesh Mehta 

 

Q144. What is the tagline of State Bank of India (SBI)? 

1.  A tradition of Trust 

2.  Your Faithful and Friendly Financial Partner 

3.  We understand your world 

4.  Pure Banking, Nothing Else 

5.  Much more to do with you in Focus 

 

Q145. Which bank has become the top merchant acquiring bank in the country? 

1.  ICICI 

2.  SBI 

3.  PNB 

4.  BoB 

5.  None of the above 

 

Q146. In which year was the 1st Malti Gyan Peeth Puraskar ceremony held? 

1.  1997 

2.  2013 

3.  2016 

4.  2015 

5.  1986 

 

Q147. Who is the Chairman of Indian Space Research Organisation(ISRO)? 

1.  Thekkethil Kochandy Alex 

2.  K. Radhakrishnan 



 

 
 

3.  Tapan Misra 

4.  Satya N. Atluri 

5.  A. S. Kiran Kumar 

 

Q148. In which year did the Foreign Account Tax Compliance Act (FATCA) come 

into effect? 

1.  2007 

2.  2008 

3.  2010 

4.  2013 

5.  2015 

 

Q149. What is India's rank in creating jobs in renewable energy sector in 2015? 

1.  6 

2.  7 

3.  5 

4.  9 

5.  10 

 

Q150. The Reserve Bank of India (RBI) directed that all banks and white-label ATM 

operators should have ____ chips and pin based card infrastructure on the cards. 

1.  EMP 

2.  MS-CHAP 

3.  Dual EC DRBG 

4.  EMV 

5.  SHA-1 

 

Q151. Which country is going to fund two road projects in North-East India? 

1.  Germany 

2.  Israel 

3.  Ukraine 

4.  UK 

5.  Japan 

 

Q152. Which of the following businessmen is listed in Forbes’ list of 40 most 

powerful people in the financial world? 

1.  Jamshyd Godrej 

2.  Mukesh Ambani 

3.  Uday Kotak 

4.  Gautam Thapar 

5.  Savji Dholakia 



 
 

 

Q153. Name the cricket club which has released the first ever app on Laws of 

Cricket. 

1.  Lancashire 

2.  Sydney Thunder 

3.  Sydenham Cricket Club 

4.  Cornwall Cricket Club 

5.  Marylebone Cricket Club 

 

Q154. A.R. Rahman who is India's famous composer, singer-songwriter, music 

producer, musician and philanthropist is from which state? 

1.  Kerala 

2.  Tamil Nadu 

3.  Maharashtra 

4.  Delhi 

5.  Andhra Pradesh 

 

Q155. Which country has unveiled a new intellectual property rights policy (IPR)? 

1.  China 

2.  USA 

3.  India 

4.  Japan 

5.  UK 

 

Q156. India has signed the Double Taxation Avoidance Agreement with which 

country? 

1.  Switzerland 

2.  UK 

3.  USA 

4.  Mauritius 

5.  China 

 

Q157. Which bank has launched India's first contactless credit card for small and 

mid-sized enterprises (SMEs)? 

1.  Bank of Baroda 

2.  ICICI 

3.  HDFC 

4.  SBI 

5.  Punjab National Bank 

 

Q158. Government has launched 2nd phase of Pradhanmantri Ujjwala Yojana in 

_____. 



 

 
 

1.  Uttar Pradesh 

2.  Gujarat 

3.  Maharashtra 

4.  Bihar 

5.  Tamil Nadu 

 

Q159. In which year will the government set up the Monetary Policy Panel 

Committee? 

1.  2016 

2.  2018 

3.  2017 

4.  2019 

5.  2020 

 

Q160. How many banks will merge with the State Bank of India(SBI) in the year 

2016? 

1.  12 

2.  6 

3.  8 

4.  9 

5.  5 

 

Q161. Name the Act under which taxes are collected in India? 

1.  The Income Tax decree of 1968 

2.  The Income Tax Act, 1953 

3.  The Income Tax Act, 1949 

4.  The Income Tax Act, 1961 

5.  The Income Tax Act, 1950 

 

Q162. Which bank has launched SmartUp, a dedicated solution for startups, to fulfil 

all their banking needs? 

1.  SBI 

2.  ICICI 

3.  HDFC 

4.  Bank of Baroda 

5.  Punjab National Bank 

 

Q163. In which country is the Internet Corporation for Assigned Names and 

Numbers (ICANN) headquartered? 

1.  Sweden 

2.  UK 



 
 

 

3.  France 

4.  Switzerland 

5.  USA 

 

Q164. In response to which disease did the World Bank launch a $500 million 

insurance fund? 

1.  Malaria 

2.  Dengue 

3.  Encephalitis 

4.  Tropical ulcer 

5.  Ebola 

 

Q165. Aadhar card has a __ digit unique identity number. 

1.  12 

2.  13 

3.  15 

4.  20 

5.  18 

 

Q166. The government appoints  ___ Deputy Governors to the The Reserve Bank of 

India (RBI). 

1.  5 

2.  3 

3.  2 

4.  6 

5.  4 

 

Q167. To mark the 475th birth anniversary of ______, Government has released a 

commemorative coin of Rs.100 and a circulation coin of Rs.10. 

1.  Hemchandra Vikramaditya 

2.  Yashwantrao Holkar 

3.  Prithviraj Chauhan 

4.  Maharana Pratap 

5.  Nana Fadnavis 

 

Q168. According to a recent survey only ___% of population pay taxes for 

assessment year 2012-13. 

1.  3.4 

2.  1 

3.  1.5 

4.  2 



 

 
 

5.  5 

 

Q169. Which state has banned diesel taxis from May 1, 2016? 

1.  Delhi 

2.  Maharashtra 

3.  Haryana 

4.  Tamil Nadu 

5.  Bihar 

 

Q170. Name the city which has been declared as a declared ‘smoke-free city.’ 

1.  Delhi 

2.  Imphal 

3.  Agartala 

4.  Gangtok 

5.  Kohima 

 

Q171. Who is the Chairman of National Bank for Agriculture and Rural Development 

(NABARD)? 

1.  Harsh Kumar Bhanwala 

2.  Rajiv Takru 

3.  Prakash Bakshi 

4.  N. Kamakodi 

5.  Sri Umesh Chandra 

 

Q172. Name the law firm which is news due to the Panama Papers. 

1.  Conyers Dill & Pearman 

2.  Harney Westwood & Riegels 

3.  Mourant Ozannes 

4.  Maples and Calder 

5.  Mossack Fonseca 

 

Q173. India has recently signed four Memorandum of Understandings (MoUs) in 

various sectors to boost bilateral cooperation with which country? 

1.  Singapore 

2.  Malaysia 

3.  Indonesia 

4.  Samoa 

5.  Papua New Guinea 

 

Q174. Government has raised the employees provident fund (EPF) rate to ____% 

for 2015-16. 



 
 

 

1.  9 

2.  10 

3.  8.9 

4.  8.8 

5.  9.2 

 

Q175. Name the committee formed by the Reserve Bank of India(RBI) to ease 

compliance reporting norms for banks. 

1.  Ghosh 

2.  Sharma 

3.  Jilani 

4.  Patwardhan 

5.  Patil 

 

Q176. Name the scheme launched by the Railways Ministry to prevent accidents. 

1.  Rashtriya Rail Sanraksha Kosh 

2.  Rail Suraksha Kawach 

3.  Rashtriya Rail Kushal 

4.  Rail Kushalta Yojana 

5.  Rashtriya Rail Salamati Kosh 

 

Q177. In which year was the Goldman Sachs bank established? 

1.  1869 

2.  1876 

3.  1901 

4.  1799 

5.  2002 

 

Q178. Government has hiked the minimum wage for contract workers to Rs. ____ 

per month 

1.  9500 

2.  9000 

3.  10000 

4.  11000 

5.  12000 

 

Q179. Name the country which launched the X-2 fighter craft. 

1.  Israel 

2.  USA 

3.  China 

4.  Spain 



 

 
 

5.  Japan 

 

Q180. Name the businessman who has been named as World's Most Admired Man 

2016. 

1.  Carlos Slim 

2.  Mark Zuckerberg 

3.  Warren Buffett 

4.  Bill Gates 

5.  Larry Ellison 

 

Q181. Which bank has decided to close 24 branches in India? 

1.  ABN AMRO 

2.  HSBC 

3.  Credit Suisse 

4.  Standard Chartered 

5.  Deutsche Bank 

 

Q182. Which bank has reported a massive loss of Rs 5,367 crore for the quarter 

ending March 2016? 

1.  Punjab National Bank 

2.  State Bank of Bikaner & Jaipur 

3.  UCO Bank 

4.  Union Bank of India 

5.  Allahabad Bank 

 

Q183. In which city is the Multi Commodity Exchange of India Ltd (MCX) 

headquartered? 

1.  Bengaluru 

2.  Mumbai 

3.  Delhi 

4.  Chennai 

5.  Hyderabad 

 

Q184. Which company has launched a youtube like video service? 

1.  Netflix 

2.  Amazon 

3.  Redbox 

4.  King and McGaw 

5.  Wuaki.tv 

 



 
 

 

Q185. The Reserve Bank of India(RBI) has permitted business houses to invest in 

the banks to less than ____%. 

1.  15 

2.  9.5 

3.  10 

4.  20 

5.  8 

 

Q186. The government has given its approval for a currency swap agreement 

between the Reserve Bank of India (RBI) and _______. 

1.  National Bank of Austria 

2.  Central Bank of the United Arab Emirates 

3.  Czech National Bank 

4.  Deutsche Bundesbank 

5.  Reserve Bank of Australia 

 

Q187. According to _____ FDI Confidence Index India is ranked 9th in the 2016 

Foreign Direct Investment (FDI) Confidence Index. 

1.  The Global Dow 

2.  MSCI World 

3.  BBC Global 30 

4.  FTSE All-World index series 

5.  AT Kearney 

Q188. Which country has been ranked as a top destination for Foreign Direct 

Investment (FDI)? 

1.  China 

2.  India 

3.  Malaysia 

4.  Singapore 

5.  Japan 

 

Q189. The 8th Banking & Finance Conference was organised by Indian Merchants’ 

Chamber (IMC) and the ______ 

1.  ICTACEM 

2.  IOV 

3.  ISTE 

4.  ICSI 

5.  ICAI 

 

Q190. Which company has teamed up with Indian Railways to provide free wifi 

service at railway stations? 



 

 
 

1.  Google 

2.  Facebook 

3.  Twitter 

4.  Microsoft 

5.  HCL 
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